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int arr[10] = {1, 2, 31, -3, 51, 12, -102, 1, 31, 1}; :’..u.u g
int maxSum = INT_MIN; “

for(int i = @; 1 < n; i++) {

for(int j = i; j < n; j++) { w . e .
int sum = ©; - _)J}\N;M\_.\M\_\ﬁ;i:\um}\
for(int k = i; k <= j; k++) -
sum += arr[k]; 9
if(sum > maxSum)

maxSum = sum;

}

1
J

cout << maxSum;

int n = 10;
int arr[10] = {1, 2, 31, -3, 51, 12, -102, 1, 31, 1};
int maxSum = INT_MIN;

int sum = 9;
for(int i = 8; i < n; i++) ﬂ
if(sum < Q)

Sa b4l g lea (S 6 = sum = 0;

sum += arr[i];

¢L§l=‘ if(sum > maxSum)

maxSum = sum;
1
J
cout << maxSum;
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5 )ail4-
time LSJ\st
}
S512T —
256T —
128T —
64T —

size — 1K 2K 4K 8K
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for(i=0:i<n:i++)
if Ali] ==
break;

if (i ==n)

cout << “no”
else

cout << “yes”
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forG=ti<= 100 [

cout<<2*| i =1 ]
i <=10 11

i++ 10

cout 10

s
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for (1=1;1<=20; 1++)
ifi1% 2 ==
cout << i

i =1 1

i <= 20

i++

if

cout

21

20

20

10

s

\
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for (i = 2; i <= 20; i+=2) _

cout << | i =2
i <= 20 11
i+=2 10
cout 10

s
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by
fori=1ton
=7 n
S.0

fori=3ton
=1

S.0

n—-3+1

fori=atob >
S.0
for iza; downto b =

\ ’



fori=1ton
for j=1ton
S.0

fori=4ton

{
sum = L[i-3]
for j=1-3 to |
{
sum += L[j+n]
S.0

}

¥

\
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=1

while i<=n

{
|*=2
S.0

}

oy, .

Yo

7
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whilen>=1

{

n=[n/2]
S.0
by
1=n
whilei>1
{
J=1
while j <n
{
J=]*3
¥
1=1/2
¥

—

logo,n *xlogzn
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fori=1ton

forj=1toi
S.0
[ | sous
1 1=>1 1
2 1=>2 2
3 1=>3 3




fori=1ton
{
for j=1ton
S.0
n=n/2

}

\
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n+n2 /48t w2k ——

=n(l +1/2+1/4+1/8+ ...+ 1/2%)

=n(1/2° + 1721 + 1722 + 1/23 + ... + 1/2l0821)

1 — (l)logz n+1
2 ) D)) (odid (g adayl j 4 an g L

n*(

1-1/2

Dl Gl Cled )
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1=n
while 1>1
{
j=1
while j<n
{
J=17*3
1=1/2
S.0
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I=n
while 1>1
{
j=1
while j<n
{
J=]17*3
1=1/2
S.0

l=n

oy, .

while 1>1

{
1 =1/X
S.0

¥

1=n

while 1>1

{
1=1/(2"1log(n, 3))
S.0

¥
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1
logzn

(log(zlog3 n) n) *logzn = *log,n *logzn=log,n=logn
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Insertion Sort Execution Example

- 3 2 10 12 1 3 6

10 12 1 3 6

10 12 1 S 6

21 [3 ][4 M ["2] [1][5][se
2 ) [3][4][o] B [1][5][se

w2 EN EN KON B2 BN (5] [c

1 2 3 4

1 2 3 = 5
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function isertionSort(L: Array; n: integer){
// L is Array of elements
// n 1is number of elements
var i: integer

for j =2 ton do a

{
Current = L[J]; @
i = -1 <
while 1 > @ and L[i] > Current do e
{
LIi +1] = L[ @@
i=i-1; 6
}
L[1 + 1] = Current; a
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Analysis of Insertion Sort

Cost Times
« Forj< 2tondo cl n
. key < A[j] c2 n-1
. Insert A[j] into sorted

sequence A[1...j-1]

. i<~ j-1 c3 n-1
. while i >0 and A[i] >key c4 Z '
. do Ali+1]< A[i] c5 2,
. b c6 I
. Ali+1]< key c/ n-1

Total Time =n(cl+c2+ c3 + c7) +i t, (c4 + ¢5 + c6)—( c2 +c3 +c5+c6+c7)

t;counts the number of times the values have to be shifted in one iteration
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t(n) =n®+10n
f(n) =n*+10000000n + 101°°
gn) =n?+logn xn?+n
h(n) = n® +logn x n? +logn + 10
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< h(n) =gn)
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logion = log,n = log, n = log.n

h(n) = 3n?

g(n) = 10000n?
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o(nY)o(c")  o[n°)

N T
0(n!),0(c"),0(n°)-Worst
Running Time O(nlogn) - Bad
Complexity O(n)- Fair
in terms of O(nlogn)
Big-O O(logn)-Good
O(f(n)) 0(1) - Best .
— O(n)
- O(logn)

b 4

Input Size n |
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Tp(n) = O(n)
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ngY

41




L b o5y 0 INSertion Sort g, oKl as o - Olawsgs onl 4 4295 L

£ N

Lo (sl 48 ol i) KU G i e ¢ @) S e dilad (lgd Jaals
OV oYL b alea b ool 30 5 ) K1 A e 5 2500 Cuen)
MMGAMJC}@MDM‘L;S'AJ»JJAJ

- 4

N\

4

42



_---‘-_/_

f(n) eO(g(n)) < {3c >0, nyg>0|Vn= ng f(n) <c.gn)}

\
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f(m) € 6(g(m) < {3cy, €2, o> 0] V> ng;c1.9(n) < f(n) < cz.g(n)}

f(n)

i
\ = theta(g(n))
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f)=0(gn)) ©{3c,ny>0,vn=ny,f(n) =cg(n)}
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big-Omega(Q)
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b s nlogn 5 gTas, b ast el nlogn

f(n)
c g(n)

n 0

f(n) = Omega(g(mn))
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gn)
f(n)

Cd )5 aoms g oK1 f(M) = o(g(n)) K{

g(n)

f(n) = o(g(n)) =3 11m = 400

o f(n)
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f)=w(g) ©{3ny>0,vc>0,¥Yn>ng,f(n)>cgn)}
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a>b=fn)=0(gm).g(m) = 0(f ()
a>b=fn) = w(gm),gm) = o(f(n))
a=b=fn)=06(gm),gm = 6(f())
a<b=fn)=0(gm),gmn) =Qf()

&ﬂn): o(g(m) .9 = w(f(n))

53



Jia s 92
3 ‘e
oS el fr, = 3% + N+ 10 4 azgi LTy 15990
f, € 0(n?) (W
e
3n? +n+ 10 < cn? : olyzds ¢ = 4

=4n2 —-3n°—n—-10=>0

-n’—n—-10>0 2/5 3/5
1+ V41 i 3 | nZz
nl,nzzT

n2-—-n-10 | Q o _I_




3n+n+10<cn
- -3n°+(c—-1)n-10=>0

A=(c—1)2-120

1—c++VA
—6

ny,ny; =

nl nZz

fn € O(n) (<

s oo

Jn € 0(M)
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fn €0(N?) KT il fr, =N+ 10 31 aus b, q?

n+10 < cn? 555 o Mg S b € o (&l

>cn®—n—-10>0

A=1+4+40c
n,,n _1i\/3 1
1,12 = 2C n 1.2
Q Q ‘
1++/A
ny = [ny| = 2c
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